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26.

27.

28.

29.

30.

SECTION - II

MATHEMATICS

Nikhil purchased three chocobars from a shop. He paid ¥ 50 to the shopkeeper
and got I 5 back from him. What is the cost of each chocobar?

(1) T 20 2) T 10
3) T 12 4) T 15

Jay purchased an old bike at ¥ 17000 and after 2 months he sold it at
< 15000. How much is the loss in this transaction?

(1) T 2000 2) T 4000
(3) T 3200 4) T 5000

From the given set how many numbers are not completely divisible by 27?
162, 131, 890, 772, 245

(1) Three (2) Four

(3) Two (4) One

Which number should be subtracted from quarter to twenty six thousand to
obtain 4 digit smallest even number?

(1) 25750 (2) 24750
(3) 27450 4) 26750

If in the year 2010 Republic Day occured on Tuesday then in the same year
Teacher’s Day occured on which day?

(1) Sunday (2) Saturday
(3) Monday (4) Friday

SPACE FOR ROUGH WORK
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(1) 2000 oraramen (2) 4000 oraraDen
(3) 3200 ooaromen (4) 5000 orapomen

162, 131, 890, 772, 245 &8 wopee® o9, dopen 23 AZRH0m grA0BE)?
(1) e (2) ~eom
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(1) 25750 2) 24750

(3) 27450 4) 26750

2010 058508 rieasols OB SO0MEaRES0 GORD. 0NN B VOSBEOS EaPEROD
DIVBDBB0 O O/ GORD.

(1)  esOo50 (2) SRVooS0

(3) ®hSoPES0 (4) DEeosn
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31.

32.

33.

34.

3s.

Sanjeev deposited certain amount at the rate 5 p.c.p.a. for 3 years in a bank.
He received simple interest of ¥ 1500 after 3 years. How much amount did
he deposit in the bank?

(1) % 11500 2) % 10000
(3) T 4500 4) T 5000

Which of the following numbers do not occur at unit place in the prime
numbers from 10 to 100?

(H 1, 3,7 2 97,3
3) 5, 2,4 4 1,3,9

Each angle of a rectangle is
(1) Acute angle (2) Right angle

(3) Obtuse angle (4) Linear angle

Quarter to nine litre means how much millilitre?
(1) 8750 ml (2) 9750 ml
(3) 8250 ml (4) 8550 ml

Select the correct option to indicate the number ‘Seven lakhs seven thousand
seven hundred and seven’ in figures.

(1) 770707 Q) 77777
(3) 707707 4) 707070

SPACE FOR ROUGH WORK
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RS0 EROSY DOy W2
(1) 11500 oaramen (2) 10000 oaraDen

(3) 4500 owaranen (4) 5000 ooaranen

10 %009 100 555 o (oS DON® 8B @(3;6065 &0oEd @02en 208 83EY 9 7?

I 1, 3,7 @2 9 7, 3
3 5 2 4 “ 1,3 9
BFSEBEO AI0E, (DS §%s0 ™ €0e008.

(1) eofdo (2) ©o28%s0

(3) o550 (4) oes558%0

P B, S Deosse AV, dDesy?
(1) 8750 20.8. 2) 9750 2.
(3) 8250 2w.5. (4) 8550 20.5.

OB DEIRO DEISOFO D&’ B3 050 2908080 Dere ToRPH?
(1) 770707 2) 77777

(3) 707707 4) 707070
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g 36. Identify the pattern and select the correct number to fill the blank box.
E:i:i
iéj 5 7 10 22 | 33 | 46
€
7 (1) 5 2) 17
€ 3) 10 4) 15
37. Select the correct option which indicates the ascending order of fractions.
5 4 1 11 17 1 5 6 11 17
M 5 66 6 6 2 6 66 66
5 1 6 17 11 1 5 6 17 11
@ & 66 66 @ 6 6 6 66
38. 225 x 72 = |:| select the correct option.
(1) 16200 (2) 2250
(3) 1650 (4) 22500

39. When two cubes are joined to form a cuboid then the number of edges are
more than number of surfaces by how much?

(I) More by 2 (2) More by 3
(3) More by 8 (4) More by 6
40. Select the correct option to replace the box. % + I%] = %
(1) 4 2) 2
3) 3 4) 5

SPACE FOR ROUGH WORK
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37.

38.

39.

40.

8065 99y EEAR Mo, o (&S 53 Do TODOE.

5 7 10 22 | 33 | 46
5 Q) 17
(3) 10 4) 15
8ots HORATFOSRR) BdyS Heodd 8% 530080 @D HOGHH HoKADO HO?
W3 ALY m L3 s
® 36 6 6 6 @ L, 2 6 11 11

225 x 72 = : HRSY HOGHD DHoRADOR D0S0E.
(1) 16200 (2) 2250
(3) 1650 (4) 22500

BotH 5B BE, DA e5REYEE HRosm el BIAD e5E JOEB0D. [P

DoE5 BBAD eEBS? Bere Jop; 508 OBED VOP; OB DB GO ?

(1) 2 o5 (2) 3 o5

(3) 8 5 (4) 6 5,5

% + I%] = 273 HBSY 53, Vo0 HOUATPS 00D IE0E.
(1) 4 2 2

(3) 3 4 5

SPACE FOR ROUGH WORK
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41.

42.

43.

44.

45.

30% of 60 = ?
(H 9 (2) 90
(3) 30 (4) 18

Last year 427523 students of std. 5™ and 238249 of std. 8™ appeared for
scholarship examination. Total how many students appeared for the examination.

(1) 662757 2) 665772
(3) 662752 4) 667527
Solve

2 4 . 5 1.3 . 2\ _
(5+W+m+‘1ooo) - (2+16*+ 100 * 1000) = |
(1) 3.003 2) 3.005
3) 3.113 @) 3.004

Riya purchased two and quarter metre of white cloth and two and three quarter
metre of blue cloth to stitch a uniform. Total how much cloth did she purchase?

(1) 5 metre (2) 4.15 metre

(3) 4.95 metre (4) 5.10 metre

3000 is divided by which number to get the quotient as 85 and remainder as 25?
(1) 45 2) 25
(3) 55 4) 35

SPACE FOR ROUGH WORK
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41.

42.

43.

44.

45.

60 & 30% = oos?

(1) 9 2) 90

(3) 30 4) 18

178 905850 GH50I850 (FeEaD) Do 5o son® & 427523 000 daespen

575,080 0000 85 SErdSR 238249 w008 DeRiRen 51080, @00 B0EO J0B
5008 e HHFL Xm0k ?

(1) 662757 2) 665772
(3) 662752 @) 667527

HBSY ©OgHD Do TADOE.

2 .4 . 5 13 . 2
(5+75+ 100 +1600) ~ 2+ 10+ 160 *1000) =L
(1) 3.003 2) 3.005
3) 3.113 4) 3.004

2O ANFAFR0 HQEPAS BOEI0RRD) AT BY MG SOOATD @R BED SrE Qoers
RO ord 11 BRI, oD e3> 3o I, LY Mg SR

(1) 5 Soexn (2) 4.15 Soem
(3) 4.95 Svewsn (4) 5.10 Soeowm

3000 Hopgso BAE gPACDIS ERITHOO IIP B FHOOTH FRO AP O POIHOVT ?
(1) 45 2) 25
(3) 55 4) 35

SPACE FOR ROUGH WORK
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g 46. Suhas participated in a motorbike ride competition of 60 km. He covered the
E’i{i distance with the speed 15 km/hr. If he started at 10:15 am. then at what time
ijz'j will he reach the destination.
i (1) 14:15 (2) 12:15
e
sﬁ:
i:':':i (3) 14:30 (4) 13:00
;i‘
47. Solve

70602 + [ | = 92328

(1) 22823 (2) 21726

(3) 21720 (4) 27612

48. 12 dozen notebooks are packed in one bundle. If the thickness of each notebook
is 5 mm then what is the height of the bundle in cm?

(1) 72 cm (2) 720 mm

(3) 720 deci metre (4) 720 m

49, Convert the improper fraction ‘g—7 into mixed fraction.
4 2
(H 15 3 2 3 1%
3 2
3 15 5 4 15 3

SPACE FOR ROUGH WORK
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47.

48.

49.

200 60 8.8, crsomd DrgRd IrertpdS Sod? HSmen. wB e Groed)
foexs 15 8.8o. Jrio&® Hre Jwe. e53¢ s es So 10.15 KovesH Rncends

OB DFHONODT PP D60 B808%0e70e50 ?
(1) 14:15 roerem (2) 12:15 roerom

(3) 14:30 roerom (4) 13:00 roeres

70602 + [ ] = 92328, eows n&S © Sogy Sdy0?
(1) 22823 2) 21726

(3) 21720 4) 27612

12 e DIspe 58 500830, &5 D50 oo 5 Q0. &od. WaNS VIO 5

DB AV, 20.80. GOEINO?

(1) 72 2o.v. 2) 720 20.%.
(3) 720 5% @) 720 .
A7 53D, Do D5 0B a
3 2R, o’ 0 A°00Cs.

4 2
1 15 3 @ 3 5
3) 15 3 @ 15 %

SPACE FOR ROUGH WORK
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50. In the given figure how many vertices are there?

&

(1) 38 2) 9
(3) 10 4) 7

51. 65 kg 500 gm of sweets were brought by an Institute for school students.
If 60 kg 200 gm of sweets were distributed among the students how much
sweets are left?

(1) 5 kg 200 gm (2) 5 kg 100 gm
(3) 5 kg 400 gm (4) 5 kg 300 gm

52. In a circle, radius is 2 cm and length of a chord is 3 cm. What is the length
of longest chord of a circle?

(I) 5 cm (2) 6 cm
3) 2 cm (4) 4 cm

SPACE FOR ROUGH WORK
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50. 805 @dy® eﬁ%@% NI %ga)odo@en o) ?

(H 8 2) 9
(3) 10 4) 7

51. &5 ®oy PETOS Drspos HodLER8 65 8 500 . Dowow Bmym. 60
. 200 . Qowron H0S2R00. 900S [OSe oG ST QOAD E0E0D.

(1) 5 &e. 200 (. 2) 5 &e. 100 (.

3) S5 8w 400 . 4) S5 8w 300 .

52. &0 G305, aRego 2 20.80. &od. es & 3 20.80. 0. @ond 5,80 BT, 9BDY
2y D) DY, 0.80. &0t ?

(1) 5 0.8 (2) 6 0.5
(3) 2 20.%0 4) 4 20.%0

SPACE FOR ROUGH WORK
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53.

54.

5S.

56.

57.

Which of the following mathematical expression has maximum value?
(1) 10 -3 x3 2) 10 x3+3
3) 10+ (3 + 3) (4) 3 x3+10

A rectangular room of length 10m and breadth 8m is tiled. What is the cost
of tilling at the rate of I 30 per sqm?

(1) T 2400 2) T 2200
(3) T 2000 4) T 80

A decimal fraction 0.17 cannot be written in which of the following way.
17 10 7

(D o0 ) 100 T 100
10+7 7
3) Foo @ 10+ 750

Select the correct option

(1) Selling price — Cost price = Profit
(2) Cost price + Selling price = Loss
(3) Selling price — Loss = Cost price

(4) Cost price — Profit = Selling price

3, 0,5 7,9, 1 use each digit only once to obtain largest 6 digit odd number.
(1) 975310 (2) 105793
(3) 975301 (4) 973501

SPACE FOR ROUGH WORK
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S3.

54.

5S.

56.

57.

208 30830 9 DSRS0 ABo0s, D0 9,835083 DB [0SO 7?
() 10 — 3 x 3 2) 10 x 3 + 3
3) 10 + (3 + 3) 4 3 x 3 + 10

BY SRS SO GBos, iy 10 Qo oo e, 8 Do eod. e BONBITOS
Bop 86, D65 a8 $556D ems 30 ErEahe SoEN 08 ErD BBFHOV

Q00RO ?
(1) 2400 oraranen (2) 2200 oraroDen
(3) 2000 owareomen (4) 80 oraroDen

0.17 &3 w08 D050 O Do AN T ?

17 10 . 7
(D oo ) 100 T 100

10+7 7
) 100 4) 10+1050

808 ESY 5O DSTE OO ?

(1) o0 o - §%Jo = ergo
(2) &% o - WIS o = 5O
(3) WS o - SHPo = 8%, Jo

(4) &%, 30 - oogo = VWP IO

3, 0, 5,7, 9, 1 o 5008 08 €903 a5300 SPBS0 GODBPA0D, 35080 B
B Doy BATPEDHBODOE.

(1) 975310 2) 105793
(3) 975301 4) 973501
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58. 6 hrs 40 min + 2 hrs 35 min = ?

Q2
o

‘*’
mA

(1) 8 hrs 40 min (2) 8 hrs 15 min

G

(3) 5 hrs 5 min (4) 9 hrs 15 min

X

59. What is the percentage of shaded portion in the given figure?

O
D

Q)
D

&

(1) 50% 2) 75%
(3) 25% 4) 85%

60. Chandu typed at the speed of N words per hour for 5 hours and Ali typed at
the speed of M words per hour for 6 hours. Total how many words did both
of them type?

(1) 5N x 6M (2) 6M - 5N
(3) 5M x 6N 4) 5N + 6M

61. In a milk collection centre there are 300 bags of 1 litre each and 600 bags of
500 ml each. If 560 litres of milk is distributed then how much milk is left?

(1) 40 litre (2) 50 litre
(3) 500 litre (4) 30 litre
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S8.

59.

60.

61.

6 oo 40 Jodwen + 2 oo 35 ADowen = Do ?
(1) 8 roereo 40 Ddozpen (2) 8 roeo 15 dozwpen

(3) S5 oo S Adodeen 4) 9 oo 15 dospen

8055 @dy® @%@e’iﬁé‘\) Spen Aands (8g0808) grrio A3ns, TBO BIOHHOR.

(1) 50% 2) 75%
(3) 25% 4) 85%

BOLO 8B oL ‘§ ©Zoeen B3 Do 5 110D SodAT0 9 a8 HoeE ‘@’ 5000
B3 degore 6 1owen Bof I, YD DD IV, wgoen Boh BT.

(1) S5 x 6 2) 60 — S5y
3) S0 x 63 4) S5 + 6

85 o Zososd 1 Deond 300 an@en soamo 500 0O deosd 600 @o@ew
Godso. es8% 560 deog dren Qorbenmon?

(1) 40 dexsn (2) 50 dexn
(3) 500 ®exsn (4) 30 dexn
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62. Javed purchased 10 boxes of Mangoes at the rate of I 3000 each. After some
days Mangoes got spoiled so he sold them at I 1200 per box. What is the

Q2
o

percentage of loss he got?

(1) 40% 2) 60%

(3) 50% 4) 70%

O
D

Q)
D

&

63. Arrange the following in descending order. Find the difference between the
second last and fourth last number. Which digit will occur at the tens place
in this difference?

40273, 41237, 41260, 42106, 41238
(1) 4 2 3
() 2 4 9

64. 2 gross papers out of 2 rim of papers is used for printing, how many dozen
papers are left?

(1) 672 (2) 56
(3) 66 (4) 288

65. Select the correct statement.
(1) Smallest divisor of 15 is 3.
(2) Only three divisors of 18 are even numbers.
(3) Any prime number has more than 2 divisors.

(4) Number of divisors is unlimited.
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62.

63.

64.

65S.

2238 3000 sraronen s g S0, 10 Srfudnog vemd %o Jm0. §),
Blere BoarE ©omSR) ), SrADE B§@isco sos 1200 araeonen s D
DD, R, DHOSL [0, oS SIS B3 65555*6065 D0 B0 PO IR0 ?

(1) 40% (2) 60%
(3) 50% 4) 70%

808 DoPOR WSEITE (B0 T, DS 00D Sy BOED HOOTV WS B
0655 %8 50 BLDB0D. oD €3 JoPED DO @;éoe‘iﬁ O 08 55907

40273, 41237, 41260, 42106, 41238
(1) 4 2) 3
(3) 2 @ 9

3060 O30V @ﬂ@o&ﬁ, 3080 Lﬁ%mo SATPOTD SOOI GIOITPA0TIRE. O

QA0S DY), G5By SABPED QA® &0e3e00 ?
(1) 672 2) 56
(3) 66 (4) 288

808 T3S0 9O DSTEs OO?
(1) 15 c3os, @835, eresso 3 .
2) 18 @By, e, ereseodd 8500 SR gRamen SFEBRD 00 H0DED [OD).
% 2 )
3) R DOSHONE B0 50E DB, g7eTOD 30800,
) &

(4) grese Hog)y VOGO S0ED).
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66. Arrange the multiples of 41 in ascending order. Which is the fourth even
number in this set?

Q2
o

0O

v
D

(1) 328 2) 164

>

(3) 410 (4) 246

0
3

O
D

QL <

&

67. What is the perimetre of the given figure, when length of each square is

1.5 cm?
(1) 15 cm 2) 9 cm
3) 39 cm (4) 36 cm

68. How many one digit and two digit square numbers contain 1, 6 and 9 at any

place?
() 6 2) 9
3) 7 4 8

69. What is the simple interest on I 3000 at the rate of 10 p.c.p.a for 3 years?
(1) ¥ 300 (2) ¥ 600

3) T 800 4) T 900
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66.

67.

68.

69.

41 3 graoDad BOKoRM e359537e0 (55300650 &955385655, RS 33260955 5%y 90D DO?
(1) 328 (2) 164
(3) 410 (4) 246

8ots 2Dy EASN DS SEsEo s, gheo 1.5 20.80. o, @ans e essd s,

T:Soe%g?’oé’s D0&s ?

(1) 15 20.%0. (2) 9 20.%0.
(3) 39 20.%. (4) 36 20.%.

I, 6 soeamm 9 & e08ew, &8 @08 0050 B0k 080 O ﬁgéoéﬁ P &,
S20880 3G DoPged M), 1) ?

(1) 6 2) 9
3) 7 “4) 8

pollsrf8 10 S5 3000 corarone ee0d 3 HoSB TR Hos 5T éé P00 ?
(1) 300 oreamnen (2) 600 srramen

(3) 800 oweanen (4) 900 oweaDen
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70. Which of the following indicates different fraction formed by shaded portion?

Q
0

Q2
o

v
o

‘i’
mAw

"
Q

v
o

(1)

3) il (4)

71. If an article of ¥ 1000 is sold at 30% profit then how many rupees profit is
gained in the transaction?

(1) X 1030 2) T 150
(3) < 300 4) T 1300

2

Q
o

v
o

‘i’
mAw

Q2
o

%
2
2
2
2
2
Pt
ot
3
2
2
2
2
2

Q
0

I
.

72. Lokesh and Roshan are working in a same company. Roshan received salary
of rupees Fifteen and half thousand for 1 month and Lokesh received salary
of rupees quarter to Eighteen thousand for same month. Salary of Lokesh is
more by how much than Roshan’s salary?

(1) Quarter and two thousand rupees.

(2) Two thousand and fifty rupees.

(3) Twenty two hundred rupees.

(4) Twenty three and half hundred rupees.
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70.

71.

72.

808 PSS O 83%8955?\) Spen AaDES grrio 30 DR, WrHR0.

(1) 2

3) il (4)

1000  orerame S0 30% ereso ©000 BT, OV B8 IR, TRADHEV

©gJ0 5D ?
(1) 1030 ooaromen (2) 150 oweamen
(3) 300 owaeamen (4) 1300 oarpomen

SIS 00010 BIBSen 8.8 50D HADDED. 58S 1 B Do DO 005
Sraeaben &od. SBEHH 1 Fon o ) B HFVO Bev God. @A SBHD
89S 508 B0 ABo D08 IS @0D?

(1) Bocoors) S GraeaDen
(2) Bowode oIrg CrReoen
(3) Boode BoEISOES® TIPADED

(4) Bom Jo STEIS0SO QTP PP
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74.

75.

73.

Height of two pillars is 117 ¢cm and 105 cm respectively. What is the height

of the pillar formed by joining these two pillars?
(1) 2.22 mm 2) 222 m
(3) 2.22 cm 4) 222 m

Note for Question 74 and 75.

Answer the following questions on the basis of pictographical information given

below. Pictograph indicates the number of students learning to play musical

instruments.

Instrument Number of students

w000 L0 Y
Harmonium | () () ()

Flute L) ©)

o [000OGC

Scale : 1 picture = 10 students

Total how many students are learning to play musical instrument?
(1) 150 (2) 160
(3) 140 4) 130

Which instrument is learnt by least number of students?
(1) Flute (2) Guitar
(3) Tabla (4) Harmonium
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73.  Boto Rogre d@en Sswomre 117 0.0 sveaw 105 20.8o. row). a5y Bowd Hogren
£.5EES R0 s ogsorre BOTPHBIFTSO s 080 R0HO DB D0S?

(1) 2.22 208 2) 222 &
(3) 2.22 o8 @) 2.22 &

L‘oT)fB:) D0. 74 S50 75 825 D5eS:
80¢s AQyS DBOD DSTT0 e8GR DI DSTERH0eD TOODOR.

TSV KT, DIERO Doy ABREID.

L5000 eaa_ﬁ;s%)xn_o?é& TR B DO

o | () () (0 ()
setpme |2 () (O

oo ) 0
e

200 1 1 o = 10 w000 dmegen

74, 3080 D0F S0 DIRERED FLIE00LD QIR0 ?
(1) 150 (2) 160
(3) 140 4) 130

75. O 0 000H DIRLRED &K, 17000 ?
(1) SBe (2) Aexs
(3) &eer (4) ®8%Ramo
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